66

FIFE / Product Number

AU

. ¥R AZ / Components
BTY=H)LT—% / Technical Datall No. 2R / Part name #=E / Pcs # & / Material - R / Color-Finish
#{TkILY / Recommended torque: 0.3N-m ~ 0.6N-m 1 a—F—7nvy 4 TS AF v A ADC12 YW=, TR
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 R 9 TILEHRE A A6063S-T5 DIN—  TZ9T-TILIAh
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
2 IL—L 4 TILEHRE 4 A6063S-T5 DIN—  TZ9T-TILIAh
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
. NI ) 7 ILZHR A1100P DIN—  TZ9T-TILIAh
Panel Aluminium A1100P Silver , Black*Anodized
5 HiN— : 7 ILZHR A1100P DIN—  TZ9T-TILIAh
Top cover Aluminium A1100P Silver , Black*Anodized
6 Thiv— : 7 L4 A1100P DIiN— , TZYTTILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
SLE TPE (TS RF) T3vY
7 Ruber feet 4 TPE (Elastomer) Black
FILZE FIE & )avT L DIWN— , TF9D-TLIAL & TS5
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
8 H{TE X (M3 x 8) 16 &% = IS RS
Screw (Flat head M3 - 8) Steel Nickel plated
9 R{FTER (RHEM3 x 5) g 73 ST AvE | ZlEEIOA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
10 B{TER (/31 FEM4 x 8) 4 E3 =ffEo/air—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
®
)
5

Hti&

H dimension

Wtk

W dimension

D~fi%

D dimension

BR/A
Feet (R or A)

B 1L#%k / Feet specification

EX P /H)
Screw (P or H)

R

Color Type

EH2E R{L#%k / Original trapezoid head screw specification

@30

@30

10 12

@ (o

© =

REFN-

/ Rubber feet FZIJLSRE / Aluminium feet

[P] 735X / Phillips

7%ff / Hexagon—socket

XK TIWIRDBETHN—ERBEGYET,

X Color of aluminum feet will be the same as bottom cover color.

{1k / Color Type

ARESLVHH I 2EPREOBFESRR S INF BT 2(CRBLET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

4/ Title
TIZHYIr—R
ALUMINIUM ENCLOSURE

o]

AES / Code | I—F—TAvY / Corner block {4k / Frame /AF )L / Panel #$1/3— / Top cover | THs/8— / Bottom cover TAKACHI| #XES#HAhFEHRI X
SSs < JLsN— / Silver < JLsN— / Silver < JLsN— / Silver 2 JLIN— / Silver < JLsN— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD.
S B 7‘5‘y7 / Black ?)l«/i— / Silver ’/)l/l\\— / Silver “‘/‘}I/l \— / Silver ’/‘)l// \— / Silver KR, Approved X, Checked R, Croated
B S 7597 / Black 75v% / Black < )LsN— / Silver 75979 / Black 735wv% / Black
BB 7579 / Black 75974 / Black 7594 / Black 75v% / Black 7594 / Black
iR x AN

FIZ /Product number

AU66-25-250101-C107

RE/Scale

{ERL B /Date 2022/09/22

~R— /Page

1717




IT
IL

&

D view

203

203

66+0.3

E view

A view
250+ 0.5
== A
|
B : B
K e _:L _______ i
A
F view
[ )
o o
(]

1.5

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

TIVEH oo T—A
ALUMINIUM ENCLOSURE

A-A (1:4) C-C (1:4)
< o)
236 243
C view B view
250+ 0.5
4/ Title

o]

752/ Approved

iR

#%[X|/Checked #X/Created

£ Al

RIE /Product number

AU66-25-250101-C107

RE/Scale
1:4

{ERL B /Date 2022/09/26

R—/Page

2 /71




C {I#k / C Frame

200 22.5
(t
© 25 ™
==
M / Front side
D fl#x / D Frame
(t—
=

Z M / Front side

<
- L7 £\
\/7 \//]
5 =
2-M3FHHY I}
2-M3 Countersunk
¥R mEEFEHE / Same on the other side.
% E / Back side
L2 3\
Y, O

@ / Back side

mmd/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 - D250 12
iR X ol R—/Page
1R H/Date 2022/09/27 3 /1




225

200

0
<
1.6
b
Y {O> 3
>/ - o~
5 5 3 33
2-M3AHY IR
2-M3 Countersunk
ET47K / Total 4 pieces
Mm%/ Title
TAKACHI] BX&#shFEHITE SL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
7R/ Approved 18X/ Checked X /Created FIF /Product number RE/Scale
W250 _
EP*E X E]”*‘T ~N—T/Page
{ERE /Date 2022/07/20 4 /1




A /\A2R)L / A Panel

200

55

BR~TiE / Max dim. 192+ 0.5

M@ / Front side

B /\7~JL / B Panel

M / Front side

$~T3i% / Max dim. 47+ 0.3

%

ol

fREES — A

Surface protective film side

fRE&ES — A

Surface protective film side

1.5

ZETE / Back side

Z | / Back side

mnda/Title
TAKACHI| #XES#HAhFEHRI X INRIL @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
752/ Approved #%[X|/Checked #1[X]/Created RIE /Product number RE/Scale
H66 — W250 12
iR X ol R—/Page
{YER B /Date 2022/09/27 5 /7 7




239.4

4-R14.7 220 4-p45 2

H#hTi% / Max dim. 203+ 0.5

<
: o
g o
REE—MAI
Surface protective film side
A~HiE / Max dim. 203+ 0.5
R / Front side 2@ / Back side

w4/ Title
TAKACHI] #R&HIHTFERTE Hri— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Seale
W250 - D250 _ 125
iR z o R=T/Pase
feFkE/Date  2022/07/20 6 /7




239.4

220
4-R14.7 1914 4-@A5 2

w0
o
_H
(a2l
<]
N
£

< o 0« 5
~
H RE—HMa
% Surface protective film side
T

4-M4
A% / Max dim. 203+ 0.5
R / Front side 2@ / Back side

S/ Title
BREUINTFEMTE THA— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W250 - D250 _ 125
R x A N /Page
YERL B /Date 2022/07/20 7717




